

BID BULLETIN 01

Date:	04 March 2024
Project Title:	Supply and Delivery of Electronics and Electrical Supplies (VSU-GOODS-24- 21)
Location:	VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

I. LIST OF REQUIREMENTS

(1st Envelope) TECHNIC	AL COMPONENT ENVELOPE					
Legal Documents						
1	PhilGEPS Certificate of Registration (Platinum)					
Technical Documents						
2	Statement of All On-Going Government & Private Contracts					
3	Statement of Bidder's Single Largest Completed Contract (at least 25% of the ABC or Php 719,962.50 .					
	Or					
	Statement of at least two (2) similar completed contracts w/ total amount of at least Php 719,962.50 and the largest of which should be at least PhP 359,981.25					
4	Bid Security					
5	Technical Specifications					
6	SCHEDULE of Requirements/Production and delivery schedule					
7	Manpower Requirements					
8	After Sales service/parts from acceptance of delivered goods (at least 1 year for equipment)					
9	Original Duly Signed Omnibus Sworn Statement					
Financial Documents						
10	The Supplier's Audited Financial Statements					
11	Net Financial Contracting Capacity (at least Php 2,879,850.00)					
	Or					
	Committed Line of Credit (at least Php 287,985.00)					
(2 nd Envelope) EINANCIA						
(2 nd Envelope) FINANCIAL COMPONENT ENVELOPE						
12	Original of duly signed and accomplished Financial Bid Form					
13	Original of duly signed and accomplished Price Schedule(s)					



Please take note:

1. In the Technical Specifications, bidders must state either "Comply" or "Not Comply" against each of the individual parameters of the specifications per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the Bidders Bid and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature (Data Sheets), unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of ITB Clause 3.1(a)(ii) and/or GCC Clause 2.1 (a)(ii).

2. Bidders are advised to use the latest GPPB forms for the following documents:

- a) Omnibus Sworn Statement
- b) Performance Securing Declaration (if applicable)
- c) Price Schedule for Goods Offered
- d) Bid Form
- e) Bid Securing Declaration

These forms can be accessed from the GPPB website: https://www.gppb.gov.ph/downloadables.php. Documents that are not in its updated/latest format shall be a ground for disqualification of the bidder.

II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)

- 1. Scan <u>per document</u> into Portable Document Format (PDF) and should be printable.
- 2. Properly label all scanned documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration (Platinum)	PhilGEPS
2.	Statement of On-Going Government & Private Contracts	Statement of On-Going Contracts
3.	Statement of Bidder's Single Largest Completed Contract	SLCC
4.	Statement of at least two (2) similar completed contracts	Statement of Completed Contracts
5.	Bid Security	Bid Security
6.	Technical Specifications	Technical Specifications
7. 8.	SCHEDULE of Requirements/ Production and delivery schedule	Schedule of Requirements
9.	Manpower Requirements	Manpower Requirements
10.	After Sales service/parts	After Sales
11.	Omnibus Sworn Statement	Omnibus Sworn Statement
12.	Audited Financial Statements	Audited Financial Statements
13.	Net Financial Contracting Capacity	NFCC
14.	Committed Line of Credit	CLC
15.	Bid Form	Bid Form
16.	Price Schedule	Price Schedule



3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.

The second folder should contain all requirements under Financial Component checklist.

- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at **jessamine.ecleo@vsu.edu.ph** before the deadline.

III. Changes in the Bidding Documents

Original	
Section I. Invitation to Bid	(Amendment)
5. A complete set of Bidding Documents may be acquired by interested Bidders on 19 February – 12 March 2024 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.	 5. A complete set of Bidding Documents may be acquired by interested Bidders on 19 February – 12 March 2024 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means: The Bidders may deposit the payment for the bidding documents to the Visayas State University Landbank Account with the following details: Account Name: Visayas State University Fund 164 Account Number: <u>3572-1000-13</u> Then send the deposit slip to jessamine.ecleo@vsu.edu.ph
Section II. Instructions to Bidders	(Additional Instructions)
15. Sealing and Marking of Bids	Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2.
	For filing purposes, the bidders are urged to use Light Blue envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.



Section II. Instructions to Bidders	(Amendment)
5.3 For this purpose, contracts similar to the Project shall be:	5.3 For this purpose, contracts similar to the Project shall be:
a. Supply of Vehicle Parts/Supplies b. completed within two (2) years prior to the deadline for the submission and receipt of bids.	 a. Supply of Electronics/ or Electrical Supplies b. completed within two (2) years prior to the deadline for the submission and receipt of bids.

IV. Revised List of Goods and Technical Specifications

• Some Specifications were added (in red font) and/or deleted (in blue font)

• Some Quantities and Unit Prices (ABC) were changed

ltem #	Description	Unit	Qty	ABC/Unit (Pesos)	Total ABC (Pesos)
1	Circuit Breaker 40 Amperes Three Phase Box Type	pcs	30	1,500.00	45,000.00
2	Circuit breaker box type 30 amperes (Single Phase)	set	50	650.00	32,500.00
3	Circuit Breaker, 15amps (Surface-type)	рс	50	450.00	22,500.00
4	Electrical Circuit Breaker, 20A, 2-Pole(Box Type)	sets	50	600.00	30,000.00
	Box type Circuit Breaker 2 pole 20 amperes;				
5	Electrical Circuit Breaker, 60A, 2-Pole(Box Type)	set	50	500.00	25,000.00
6	Electrical Circuit Breaker, 60A, 3-Pole(Box Type)	set	30	1,500.00	45,000.00
7	Electrical Conduit, (PVC) Orange, 1/2" x 3m	length	300	150.00	45,000.00
8	Electrical PVC Clip, 20mm diameter	pack	10	100.00	1,000.00
9	Electrical Tape, Vinyl	rolls	50	75.00	3,750.00
	Flame retardant and compatible with plastic cable and wire harness insulations				
	Instruction in additional Instruction Instructi Instruction Instructi Instruction Instruction				
	Primary electrical insulation for all wire and cable splices rated up to 600 volts.				
	■19mm x 16m x 0.155mm				
	■Heavy Duty				
	■ASTM approved				
10	Electrical Wire, AWG 4 (22 mm) , Service Drop (2C twisted)	meters	300	150.00	45,000.00
	Electrical Wire, AWG 4 (22mm) Service Drop (2C twisted)				
11	Electrical Wire, AWG 6 (14 mm) , Service Drop (2C twisted)	meters	300	65.00	19,500.00
12	Electrical Wire, THHN / THWN, AWG 10 (5.5mm2), Stranded, 150 meters/box	boxes	10	8,500.00	85,000.00
	Building Wire				
	Stranded with Nylon Insulation				
	■Gauge 10				
	■UL listed				





<u> </u>	Electrical Wire, THHN / THWN, AWG 12 (3.5mm2),				
13	Stranded, 150 meters/box	boxes	20	6,300.00	126,000.00
	Building Wire				
	Stranded with Nylon Insulation				
	■Gauge 12				
14	Electrical Wire, THHN / THWN, AWG 14 (2.0mm2),	hoves	20	4 500 00	00 000 00
14	Stranded, 150 meters/box	boxes	20	4,500.00	90,000.00
	Building Wire (Green Color)				
	Stranded with Nylon Insulation				
	Gauge 14				
	UL listed				
15	Electrical Wire, THHN/THW AWG 1 (38 mm ²), Stranded wire	meters	150	400.00	60,000.00
16	Electrical wire, THHN/THWN 250 MCM/150MM2 600 Volts, Stranded Wire	meters	300	1,900.00	570,000.00
17	Electrical, 3 gang convenience outlet, (surface type) universal	pcs	100	80.00	8,000.00
18	Electrical, Photocell Control Switch, Electric 10A, 230V	piece	50	700.00	35,000.00
	Streetlight, Auto on/off sensor switch, Durable, Heavy Duty, Good Quality				
19	Good lumber, 2" x 3" x 10'	length	38	600.00	22,800.00
20	Heavy Duty Graphic Equalizer	unit	1	15,000.00	15,000.00
	Two-channel 31 Band equalizer with limiter and noise reduction				
21	Heavy Duty Out/Indoor 200W Zoom COB Light	unit	6	12,000.00	72,000.00
	Input voltage: 220-240V, 50-60Hz				
	Rated Power: 200W				
	Light Source: 200W imported LED lamp beads				
	Color temperature: Warm White 3200K, Cool White 5600K, RGBW 4in1				
	Color rendering index: >_ 90				
	LED lifetime: 50,000 hours				
	Beam angle: 15 deg-60 deg. electric adjustment				
	Dimming: 0~100% linear dimming				
	DMX channel: 2/3/4/5 CH				
	Control mode: DMX-512 control				
	Protection level: IP20				
	Material quality: aluminum alloy + plastic				
	Lamp size: 465*275*184mm				
22	Heavy Duty Outdoor 18pcs UV 6in1 Pixel LED Wall Washer	unit	14	25,000.00	350,000.00
	Input Voltage: AC220-240V, 50-60Hz				
	Power: 250W				
	LED source: 18x20w RGBWA UV 6 in 1, each LED can be			T	
	controlled individually				
	Life: 50,000 hours	ļ			
	Control mode: Master-slave/automatic/DMX-512				
	DMX channel: 12CH/36CH/108CH/120CH				
	Beam angle: 25 deg./40 deg. optional				





	Cooling mode: self-cooling				
	Waterproof grade: IP65				
	Product weight: 10.75				
23	Heavy Duty Outdoor 260W Beam Moving Heads	unit	8	35,000.00	280,000.00
	Input Voltage: AC220-240V, 50-60Hz				
	Light Source: 260W High Output White				
	Power: 350W				
	Channels: 16CH				
	Beam Angle: 2 deg.				
	Electronic focus, frost, colorful rainbow effect				
	Pan scan: 540 deg. (16 bit)				
	Tilt scan: 270 deg. (16 bit)				
	Color Wheel: 7 colors white, color fine tuning, rotation with				
	variable direction and speed				
	Static Gobo Wheel: 12 gobos + white, wheel rotation and				
	shake				
	Rotation Gobo Wheel: 11 gobos + white wheel rotation				
	Prism: 16/24 prism, bi-directional rotatable at variable				
	speeds				
	High speed strobe effect with 1-25 flasher per second				
	Control mode: DMX-512, master-slave, sound activated, auto efficient low noise fan cooling system				
24		unit	2	12 000 00	24 000 00
24	Heavy Duty Outdoor Spot Light	unit	2	12,000.00	24,000.00
	Input Voltage: AC220-240V, 50-60Hz				
	Power: 40-50W				
	Lumens: at least 4000 lumens				
	Beam angle: Variable angle				
	Cooling mode: self-cooling				
	Waterproof grade: IP65				
25	Heavy Duty Outdoor/Indoor 100W COB Light	unit	6	8,000.00	48,000.00
	Input Voltage: AC220-240V 50/60Hz				
	Light Source: 100W COB				
	Power Consumption: 100W				
	Lamp Lifetime: 100,000 Hours				
	Lense degrees: 25 deg.				
	Color: Warm/Natural/ Cool White				
	Control Mode: DMX-512, Master/Slave, Sound, Auto				
	Operation Panel: LED Digital Display				
	DMX Channels: 2/4 Channels				
	Signal Input: 3-core XLR input				
	Signal Output: 3-core XLR output				
	Dimmer: 0~100% linearly adjustable				
	Strobe: 0-20 t/s	1			
	Maximum ambient temperature: 40 deg	1			
			+	1	
	Maximum lamp temperature: 60 deg				





26	Heavy Duty Outdoor/Indoor ParLED	unit	10	12,000.00	120,000.00
	Input Voltage: AC 220-240V 50/60hz				
	Consumption: 180W				
	Lamp: 54pcs 3 w LEDs (r12, G18, B18, W6) / 54pcs 3w RGB 3in1 LED				
	Channel: 8CH (RGBW LED)/6CH(RGB 3in1 LED)				
	IP rate: IP65 water Proof				
	Mode of Control: DMX 512 control, auto, voice control, Master/Slave				
	Function: Full range color effects				
27	LED Bulb 9 watts, daylight, 220-240V	pcs	500	200.00	100,000.00
28	LED Bulb, 13 watts, 87% Energy Saving	pcs	200	250.00	50,000.00
29	LED Bulb, 15 watts	pcs	200	300.00	60,000.00
30	LED Fluorescent tube (Single) with housing (T8), 18 watts, 4ft (daylight)	set	400	600.00	240,000.00
31	LED Tube, 18 watts	sets	200	600.00	120,000.00
	■Box Type Enclosure				
	■At least 1,600 lm				
	■At least 120 degree beam angle				
	■Good quality				
	Durable				
32	Metal Pull Box 6" x 6" x 4"	assy	30	300.00	9,000.00
33	Metal Pull Box 8" x 8" x 6"	assy	30	400.00	12,000.00
34	Plywood, Ordinary, 1/4"(thickness) x 4' x 8'	piece	15	220.00	3,300.00
	Standard, Good Quality				
35	Receptacle Socket, 4" x 4"	pcs	200	50.00	10,000.00
36	Rubber Socket	pcs	100	45.00	4,500.00
	Rubber Socket 3A 250V E27-602				
	Heavy Duty •BUILDMATE• 100% ORIGINAL / AUTHENTIC □ HEAVY DUTY •				
	HIGH QUALITY PRODUCT				
37	Service Drop Wire Twisted #8 AWG ACSR	meters	300	30.00	9,000.00
38	Solderless co split connector, 2 bolts for s 250MCM	pcs	20	1,200.00	24,000.00
39	Solderless Connector 1/0 AWG Split Type	sets	20	900.00	18,000.00
				TOTAL:	2,879,850.00

Jenars L

DILBERTO O. FERRAREN BAC Chairman